Version 4 Homework — 20.12.24

Maths

Circle all the multiples of 3

Each box contains 6 eggs.
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Complete the fact family to represent the eggs.
Apples cost 12p and oranges cost 9p X =
Annie spends 120p in total on apples and
oranges. X —
She buys 7 apples. = —
How many oranges does she buy? .
English
. Do the noun phrases in the table indicate sinqular or plural possession? Tick one box for
each example.
(s
Noun Phrase Singular Possession? Plural Possession? (
S
the teacher’s mug )(

the children’s hats

the waiter’s apron

the animals’ food

Who does the pronoun ‘her’ refer to in the passage below? Circle one option.

Mum and Gran drove Caroline back to Bristol last night. It is time for her to go

back to college.

[ Mum Gran Caroline
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